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Shri Jain P G College, Bikaner

UGC-258

B.Com. (Part-II) Examination, 2021
ACCOUNTANCY & BUSINESS STATISTICS
Paper - I

(Taxation-Income Tax Law and Accounts)

Time : 1% Hours | [ Maximum Marks : 100
Section—A (Marks : 2 x 10 = 20)
Note .—  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@os—3) (3f® : 2 x 10 = 20)
A - gt 2| yvEl B SW A (SW-H 50 %) | YAE TR 2 S W R
4 Section-B (Marks : 8 X 5 = 40)
Note — Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(TEUE-9) (AF : 8 x 5 = 40)
Az~ uad Y R ute ge & Sw e (SW- 200 YIK) | TEE WA 8 o
#1 ¥
Section—-C (Marks : 20 x 2 = 40)
Note — Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(|uz-%) (3i® : 20 x 2 = 40)
Az - =R H A S e & S| e (SW-E 500 ) | TF I 20 b H

T
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Section-A
@z
() What do you mean by Assessee in Default ?
o § wm ¥ W €
(ii) 'What do you mean by Perquisite ?
SEm™ ¥ A9 € 2
(iii) 'What do you mean by Standard Rent ?
e fRTA ¥ o w T € 2
(iv) Mention name of any fwo fixed assets on which depreciation is allowed.
Mmz}qwﬁﬁﬁmmﬁﬂwwmﬁmtl
(v)  Explain the income from speculations.
w® N A\ H IR
(vi) What is Capital Gain Deposit Scheme 1988 ?
it @ s Ao 1988 70 E 2
(vii) What is Bond ‘Washing Transaction ?
framd -3 w2
(viii) Compute tax liability of an individual female assessee if his total incomeé
is ¥ 2,45,000 which includes casual income of ¥ 50,000.

afx i e FERN F FW T T 50,000 F eSS A WO T
W T 2,45,000 &, A W IR TW wAfoIQ)

(ix) In which head salary received by partner from firm is taxable and why’
AR TR A WA A RN Wew # oo e o & o w4 ?

(x) What do you understand by estimated current income ?
SReiin SEEEINIE SR I DR

BI-1269 (2 )
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2.

Section-B
(Tvz-—=)

From the following particulars calculate agricultural income :

Rent from agricultural land ¥ 30,000; Sale of agricultural produce ¥ 40,500;
Salary as a partner in a Tea Garden unmit ¥ 30,000; Relevant expenses are
(a) purchase of seeds ¥ 5,000 (b) Labour and irrigation expense ¥ 10,000 and
(c) depreciation on tractors tools and implements T 15,000.

frfafan faamm @ Ffa sma F T FGC :
q;ﬁts{ﬁammzso,ooo;qﬁmaﬁﬁaﬁzw,mo;mwﬁmuﬁ
egq @ faer A A T 30,000; 59 W F o =@ fRA T (3) A9 wA
% 5,000; (%) wogd @@ fe=m = ¥ 10,000 70 (¥) 7 @@ o Ffw Sl W g
T 15,0001

Dr. Choudhari has prepared his Income & Expenditure Account for the year
ending on 31st March, 2020 as under :
<. dhad 3 31 7, 2020 F T A A AW B FAg FTW W =T wEn B gwR

T ¥

Income & Expenditure Account for the Year ended 31st March, 2020

Expenditure 4 Income L 4

Salary to employees 7,800 | Consultation fee 35,700
Dispensary expenses 3,400 Visiting fee 7,900
Household expenses 9,600 | Testing fee 2,700
Laboratory expenses 3,900 Salary received as part time

lecturer 4,800
Donation 2,400 | Gifts from patients 1,200
Depreciation 2,000 Interest on securities 800
Life Insurance Premium 1,700
Surplus 22,300

53,100 53,100
B]—1269 ( 3 ) UGC-258 PTO.
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Depreciation allowable is ¥ 1,400 find taxable profits of his profession for the

assessment year 2020-21.

i T F R T 1,400 ¥ F-Frufor ad 2020-21 F fow W/ F-dma @ R
ofer 3@ e

Sharma acquired the property in the previous year 2002-03 for ¥ 12,00,000 and
paid T 45,000 as registration charges. Sharma died on 15-9-2010 and the property
was transferred to his son Manish through inheritance. The market value of the
property at that time was ¥ 24,00,000. Manish sold property on 31-8-2019 for
¥ 70,00,000. Compute capital gain for the assessment year 2020-21 cost inflation
index for financial year 2002-03 was 105 while for 2010-11 it was 167.

¥t 3 2002-03 Ta =€ F T 12,00,000 ¥ wF wfa 7 F T T 45,000 TS W A
a1 15-9-2010 F1 v #Y Jog & T 9 9% FHfA IR A TG R ITEER F 9=
| 3 wug Tt F S9R e T 24,00,000 911 w9 ¥ 31-8-2019 W1 A% TR
T 70,00,000 # @9 < wA-Frufor 36 2020-21 & forg gSima v & afe &1 ToE
Fifo | fasita o 2002-03 & fow @ gfs gEHis® 105 o1 s&fE 2010-11 B fog wmma
3fg gEH* 167 @11

Write the names of any four exempted incomes for all types of assessees.

ol ¥R F FEmE - o fF 9 = 9w o w1 Seod wifw
6. What are the similarities in the assessment of individual and H.UF. ?
=fe dn foq wfawfoa ofer & #-fafo § w1 aaFad € 2

‘When does the liability for advance tax arises ? How is it computed and paid ?
A FX A FS T A ? THH A A9 PO 7R TR fear o € ?

BI-1269 ( 4 ) UGC-258

8.

BI-1269 « 5

There are three partners A, B and X in a partnership firm. Taxable income of
these partners is ¥ 25,000, ¥ 30,000 and ¥ 40,000 in their individual assessment.
Taxable income of this firm is ¥ 2,00,000 including ¥ 80,000 long-term capital
gain. These three partners share profit and loss in the ratio of 5:4 : 1 respectively.
Find tax liability of the firm for the assessment year 2020-21 if this firm is
assessed as an AOP and X is a company.

o FEE T § @9 wee A, B wd X §1 9 A w1 s w-Frafo § w9

3 FH: T 25,000; T 30,000 T T 40,000 ¥1 wF H For F-drw 3w ¥ 2,00,000

% forgd T 80,000 1 SrefemTel eftma = W wnfiet &1 3 AT aERR T-wf W wE:

5.4 1% atza &) we-Fuftor ad 202021 3 e v F w A IR R

ofz 39w F TP Sfedl ® TR @ w9 F g el X ww wee b

Section-C
(gvs-%)

Shri Sanjay Banerji is a manager of a private company in Jaipur (Population 27

lakhs). He submitted the following particulars of his income for the previous

year :

(i  Net salary ¥ 60,000 after deduction of tax at source ¥ 12,000 contribution
in recognised provident fund ¥ 10,800 and rent of bungalow @ 10% of
salary.

(ii) Dearness allowance @ I 600 p.m.

(iii) Bonus ¥ 9,000 p.a.

(iv) Education allowance for two children @ 100 p.m. per child.

(v) Commission on salary @ 10% of sales the previous year’s sales of the
company ¥ 4,00,000.

(vi) Entertainment allowance ¥ 600 per month.

(vii) Travelling allowance for his official tours ¥ 9,000, actual expenditure on
tour amounted to T 6,000.

UGC-258 PtO.
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) Free supply of water and electricity for which employer spent Z 1,000 in

(x) ! wfrTE gen wfed # i 22,000 Friem g TER T
the previous year.
’ . (xi) 3 wof ® wEw # frarw @ § fawe Jfaw feTa T 4,000 shr e ¥ oW
Free refreshment during office hours amounted to ¥ 800 p.m. Wﬁmm@mawmﬁmﬁwmmm
Person as accident insurance policy premium paid by employer amounted T F T 400 Y A YA & §
T 2,000. I
] (xii) T 1 e fowwt g 1.8 e w1 ¢ s 3 F # forg &
) He resides in the bungalow of the company. Its fair rent is ¥ 4,000 p.m. T fed e 4 @-EE T (T B A wfea) Frdmn g aed Rl
‘Watchman and a cook has been provided by the company at the bungalow N
B |
who are paid ¥ 400 p.m. each. o . afiE
i i ; (i) e 3 sfre fifi 3 % 18,000 1 v foa af v e Ffe 3 13%
ii) He has been provided with a motor car of 1.8 litres for his official as well faa
. . ) . ; T T 16,250 1 Tfer = S et
as personal use. The running and maintenance expenses including driver §

. 7 v wHifoa |
salary borne by the company. frufeo o 202021 % ferg 5t W ! 3w i
xiii) Employer’s contribution to PF. ¥ 18,000 and the interest credited to this

10. Discuss the provisions of the Income-Tax Act regarding the set off and carry
fund @ 13% p.a. amounted to ¥ 16,250.

forward of losses.
“ompute income from salaries of Shri Sanjay Banerji for the assessment year

| mﬁ@@mamﬁmﬁmmaMmmmu
2020-21. 11. A, BV and C are partners in a firm sharing profits and losses in the proportion of
off G IS SR (AERT 27 @) T et A yaed § e W HE w0 2:2:1respecﬁve]y,Theproﬁtandlossaccountforﬂleearended3IStMarCh.
Tl ad & fou & ot e @ frefafan faao gwm s € 3 2020 is as follows :
@) 9 T 12,000 H ST TH W H H HAd T 10,800 v wfasg fafy # “ qjﬂ,m@ﬁwamﬁsﬂm;mzu%mﬁmmmﬁmmm
FvgA 3R AT F 10% TEH FRTY W FAA B 71 T 60,000 [H I D W@ ‘ §|31mﬁ,2020ﬁm§13‘**'m"'ﬁmwmt
e | Particalars i Particulars X
(@) W R 600 W L ; Sundry Trade expenses 1,00,000 | Gross profit b/d 2,90,000
(iii) < 2 9,000 eI l‘ Interest on capital : Interest on securities 10,000
(iv) 2 o= & fow foan wa T 100 wfa =% wfa s==) ( N 16000
v) o W wlivE 10% S w1 T ad & fEwa T 4,00,000 ¥ 5 14000
(vi) TARSA wa T 600 wfa =rE ) . .00 2,000
(vii) @ W 2 9,000 AGN W A H M AEfa®w U T 6,000 o 30,000
(vii)) S T ¥ & FrdeRn g T 1,000 F AR @ faoedt @ g € ) Rent to B 72,000
(x) R FwEiem T # T 800 v WE W W ¥ TR F v fxa wn Salary to B
BI-1269 ( 6 ) UGE-258

-~ BI-1269 7)) UGC-258 PTO.

Scanned with CamScanner



Commission to C 36,000

Net profit 20,000
3,00,000

3,00,000

Compute the total income of the firm and taxable income as partner of three

partners. B and C are active partners. |
ﬁﬁwmﬁmﬁﬁqamw%ﬁmaﬁm%mﬁm—m
S F T HIQ B 9 C WhhY WEER ¥

12. What do you understand by “Pay as you eam scheme” ? State clearly the

important provisions of Income-Tax Act regarding it.
“IY FEEh A el A’ | T T R § ) 39 gy § ot afufad &
Tewaqul WEUH ! T AR S|

BI-1269 T .
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Roll No. :

---------------------------------------

Total No. of Questions 12 ] [ Total No. of Printed Pages : 8

UGC-259

B.Com. (Part-II) Examination, 2021
ACCOUNTANCY AND BUSINESS STATISTICS

Paper - II
(Cost Accounting)
Time : 1Y% Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note .—  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@uz—37) (& : 2 x 10 = 20)
e - it W A B W A (Sw-dtm 50 v | TAF U 2 3 @ &
Section-B p (Marks : 8 x 5 = 40)
Note — Answer any five questions out of seven (Answer limit 200 words). Each
- question carries 8 marks.
, (Tvz-a) (313?:8x5=40)
e - W@ d F A ue e B Iw A (- 200 =) 1 vRw v § sie
w1 ¥
Section-C (Marks : 20 x 2 = 40)
Note — Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks. .
(Twue-7) (3f$:20x2=40)
Az - WA QA oI F W AN (SW-F 500 =) | ¥R@F we 20 375 35
T
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Section-A
(@uE—3)
1. () What is the difference between cOst uni
A T T o S § a o € 7
(i) What do you mean by Economic Order Quantity ?
o oW wen | o F WA @ 7
(i) Mention Formula to calculate bonus hours in Rowan Bonus Scheme.

ﬁaﬂé\wmﬁmuﬁ‘mmW?Wl
t is Z 40,000 and office overheads are

t and cost centre ?

(iv)  If prime cost is T 25,000, works cos

662% of the factory overheads, what would the cost of production ?
i g1 @ zzs,soo,mﬁrwm?m,oooﬁnmfa'ﬂmﬁwum
I9fEmT & 66%% % A e @R F4r gl ?

(v) What is meant by'sub-contract cost ?
3931 AT | FN VY § 2
(vi) What do you mean by ‘Unrealised Profits’ in Process Costing ?
wfean rma frulor d ‘7 agE gon @y’ ¥ 39 F §EEd € ?
(vii) What do you mean by Idle Time Variance ?
FrER vg famw | T owE ¥ ?
(viii) What is zero base budgeting technique ?
¥ Ui a9 aE F g ?
(ix) What is Operating Costing Method ?
aftemrer @ frufo fafy w0 & 2
(x) Find out BEP in value and units from the following information :
e geel @ wn-famr fag g aw st T wif .

-Sale 20,000 unit @ ¥ 5 each, variable expenses ¥ 60,000, fixed expenses
¥ 10,000. ’

BI-1270 (2 ) Lee.259
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Section-B

(wus-=)
A worker taken 9 hour to complete a job on daily wageé and 6 hour on a scheme
of payment by result. His day rate is ¥ 1.50 an hour, the material cost of the
product is ¥ 8 and the overhead are recovered at 150% of total direct wages.

Calculate the factory cost of the product under (a) Piece work plan (b) Rowan
plan (c) Halsey plan.

@m%ﬁmn@m@mmﬁﬁ9a@m%ﬁﬂqﬁmﬁﬁmwm
T 6 WU A ¥ SR W wver wogh ¢ 1.50 ¥1 I WA @ X 8 ¥ AR
Sufter Yoy T WO F1 150 YR ¥ 1 SR F H@H A (37) HErTER A
(&) a9 A5 (|) eeq AN & T=rfa [ IS

3. What do you mean by Absorption of Overhead ? Differentiate between absorption

and apportionment of overhead.
9T & YN ¥ 39 =1 GHEd € 7 Iufeag & SAvvoT aon faaeo # o< Jae |

4. A product passes through two distinct processes, A and B and then to finished

stock. From the following information prepare process accounts :

@mﬁAHmBafw—fwmﬁmwﬁamﬁﬁawﬁmﬁm
s &1 Fretfafe gael @ SUR W WhRA W S

Process A Process B
® ®)
Material Consumed 24,000 12,000
Direct Labour 28,000 16,000
Manufacturing Expenses 7,800 8,096
Input 10000 unit in Process A 20,000 -
Normal Wastage (on input) . 5% 10%
Output in units 9,400 | 8,500

BI-1270 ( 3 ) UGC-259 PI

Scanned with CamScanner



5. From the following particulars compute
(@) Material Cost Variance
(b) Material Price Variance
(c) Material Usage Variance
frfafan faawit @ oA $ifa .
(1) wrrit @ e
(9) wrrit g fa=m
(W) s 3gdm fa=rw

Quantity of Material Purchased 3,000 kg
Value of Material Purchased ¥ 9,000
Standard quantity of material required

for one unit of output 30 kg
Standard Price of Materials ¥ 2.50 per kg
Opening Stock of Materials Nil
Closing Stock of Materials 500 kg
Output during the period 80 unit

6. From the following data prepare a reconciliation statement :

frafafaa gasl @ oy faam 19 @R sifsw .

®)
Profit as per cost account 25,000
Work overhead under recovered in cost 9,600
Selling and distribution overhead recovered less in cost 6,000
Administration overhead recovered in excess in cost 3,000
Valuation of closing stock in cost accounts 40,000
Valuation of closing stock in Financial Accounts 34,000
Depreciation charged in Financial books 30,000
Depreciation recovered in cost books 32,000
Preliminary expenses written off 16,000
Donation paid 6,000
Interest and dividends received 2,000
Transfer Fee 1,000
Loss as per financial accounts 10,600

BI-1270 (4 ) < o e

Scanned with CamScanner



7. Give :T:anmg and uses of profit-volume ratio and margin of safety.
A ST F W e # adf g awdm e s
g. Prepare a flexible budget for producti '
ct 0,
e ion | production level 80% and 100% from the following

mwaﬁa‘; YR T 80% A4l 100% 3o =R % Ay, Araen w92 ¥R
Production at 50% capacity 5,000 units, Raw material ¥ 80 per unit, Direct

la:?;r 2500 per unit, Direct expenses 2 15 per unit, Factory expenses T 50,000 (of
WG 7 are fixed). Administration expenses ¥ 60,000 (of which 40% are

Fixed).
Section—-C
(@uz-7)
9. “Cost Accounting System is neither unnecessary nor expensive, rather it is

profitable investment.” Comment. How it differ from Financial Accounting?

“SITT TR TER A A SHETEE & iR 7 @ swerd, sy o e fafEm
gten wifow g% faxiig o@isT 4 fag yan fu= & 2

10. The Manager of a Frize Manufacturing concern consults you as cost accountant
as to minimum price at which he can sell Frize of the concern which are
intended for mass production in future. The concern’s records show the following

particulars for the past year :
@&aﬁﬁa@mﬁﬁm@mm%mﬁmwt@%aﬁﬁ
mmﬁﬁamﬁﬂmimhﬁlqﬁwﬁmmma@mm
a@ﬁmtlm%ﬁ@ﬁmﬁémﬁﬁﬁmqmﬁmﬁ:

Production and Sells : 500 Frize

Q)
Material 1,20,000
Direct Wages 60,000
Direct Charges 10,000
Work Overhead 70,000
Office Overhead 28,000
Selling Overhead 32,000
Profit 48,000
BI-1270 ( 5 ) UGC-259 PIC

Scanned with CamScanner



11.

You ascertain the 50% of the work overhead fluctuate directly with production
and 60% of the selling overhead fluctuate with sales. It is anticipated that the
concern would produce 2,500 Frize per annum and the direct wages per unit be
reduced by 20% while fixed (works overhead) charges will increase by ¥ 30,000.
Office overhead and fixed selling overhead charges are expected to show an
increase of 25% but otherwise no changes are anticipated. Prepare a statement

for submission to the manager of the concern if the same percentage of profit

is desired as in the past year.

ST FG B ¥ & wREm suferm w1 50% IORT R WY YEs §9 9 Sd-se
¢ au Tt Sufcema &1 60% whava fast & wia wew-wga &1 9% oM & f ween
2,500 fipst =1 anfiies Searea sl @i wfd s wored 20 wiiva @ w2 WA, Wafe
Wt HIE I9Rea ¥ 30,000 ¥ w3 wrferm Saftem qun wr fasht safiera
25% ®t gfg &1 SHAM ¥ THH A A HIE YREdT H G € &1 T€ HAQ
g fF ow =t o€ wfavw sfeoa @ o @ 9 d o T o, den @ A @ gEida
FH & fog ww faaro 93 AR wifsu)

A company has a maximum capacity of producing 2,10,000 units per year.
Normal capacity 1,80,000 units per year. Variable manufacturing costs are ¥ 15
per unit and fixed manufacturing costs are I 5,40,000. Variable selling costs are

¥ 5 per unit, Fixed Selling costs are ¥ 2,52,000 per year. Selling price per unit is

T 25:

(@ What is the Break-even point expressed in units ?

(b) What is the volume of sales in rupees to earn a target net income of
T 1,20,000 per year ?

() How many units must be sold to eam a net income of 10% on sale?

(d) What should be the selling price per unit if the Break-even point is to be
brought to 80,000 units ?

(€0 Margin of safety at a profit of ¥ 90,000.

BI-1270 ( 6 ) UGC-259
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TF FA HT Afeman ST & 2,10,000 $HiEdl ® ¥ WA wrEas 1,80,000
ThIEdl HY A &1 et e o 2 15 wf s ¥ ) SREm & et saiem
% 5,40,000 aféw & uftad et fawa @ T 5 ufa g ¥ vefe et foasma o
% 2,52,000 wfa o ¥ faswg qea T 25 wfa 5o &
(1) wa-fa=k fag fat e} sl W@ & 2
() ¥ 1,20,000 v =t 35 o i & }g fopeet foeet = & @t =feq ?
(W) fara W 10% wfoem o @ w3 & fog feedt s@msdl % 9 =feq 72
() 3l wn-fa=de fag 80,000 3isdl | wra &4 & @ wia s fasea e fawamn
fruifa fean s =nfew 2

(F) 90,000 % =9 I gR&N A0

12. The contract ledger of a contractor showed the following expenditure on account
of Contract N01959 on 31st March, 2018 :
Material 2,80,000, Wages 2,23,000, Plant 70,000, Establishment Charges 10,000,
Sundry Charges 15,000

The contract was started on 1st April, 2017 and the contract price was ¥ 11,00,000
cash received on account to dale was T 6,40,000 representing 80% of work
certified, the value of plant on 31st March, 2018 was ¥ 20,000 and the value of
material at site was T 6,000. The cost of work finished but not certified on the
said date was ¥ 50,000. Some of the material costing ¥ 20,000 were found
unsuitable and were sold for ¥ 16,000 and a part of the plant costing ¥ 5,000
unsuited to the contract was sold at a profit of ¥ 1,000.

The contractor estimated further expenditure that would be incurred in completing

the contract :
(i)  That the contract would be completed by 30 Sept., 2018.

(i) That a further sum of ¥ 30,000 would have to be spent on the plant and
the residual value of the plant on the completion of the contract would be

< 12,000.
(i) That materials in addition to those at site would cost ¥ 1,00,000 and that
the further sundry expenses of ¥ 7,000 would be incurred.

BI-1270 ( 7 ) UGC-259 pro0.
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(iv) That the wages for the completion of the contract during 6 months would
amount to T 1,69,000.

(v)  That the establishment charges would cost the same amount per month as
in the previous year.

(vi) That ¥ 18,000 would be sufficient to provide for contingencies.

You are required to prepare Contract Account, Contractee’s Account, Work in
Progress Account and calculate. Estimate total profit on this contract and the
amount of profit to be taken to the credit of P&L A/c on the basis of estimated
profit to be reduced in proportion to the work certified to the contract price.

31 A€, 2018 H T IHheR IF @Al & 361 @il N01959  Gafwa @4l I guirar
%

gt 2,80,000, FSIER 2,23,000, =0 70,000, €& =7 10,000, fafay == 15,000
1 1 31, 2017 wow fan & @11 3% qe@ T 11,00,000 @11 319 7% T 6,40,000
g« fHA T ¥ S gt wE w1 80% #1131 Wrd, 2018 Y @@ | @@ T 20,000
&1 9 WHYT % 6,000 T 99 W I alr@ q% YU fhq ST w1 %1 @ra T 50,000

g1 ¥ 20,000 T T H{T AT IYYF 9 TE fR T 16,000 H 9= e v qen

% 5,000 99 &1 WU I Th WM S 39 & & ¢ qugaa o1, T 1,000 & &9 |
a9 e T

JheR A 3H 3P P QW HA A A 3R I 9l =@ w1 SEA T | e YR
¥
@) & A 30 faa=r, 2018 & o & ST@m)

(i) f& =mve W T 30,000 H I AR @E FE TR W FE @W I F wwER
% 12,000 I F1 @9 AN @I

(i) % 31 =, 2018 =t wriga W 9w & Afafem T 1,00,000 +1 wnt qen
¥ 7,000 % fafaw == &

(iv) T 3w @@ § 6 7 & /A T 1,69,000 FF A5G Y STavaSHA a0 |
(v) A =g gfd @ ag 0 S o 9" H 9
(vi) el @ faw T 18,000 &R T YAt ¥

SIH! IHT G, FHEE FT G, G FE @A FR FEA ¥ T W B W A
FHA AV HI T FIA L I8 T9 KA & FR av-wf @@ F fraw av-efy @l 8

wiee far 91, uﬁmﬁaﬁamaﬁmmﬁmﬁmwﬁa}ﬁamm
IR = T B Ty =@

BI-1270 ( 8 ) UGC-259
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Total No. of Questions : 12 ] [ Total No. of Printed Pages : 4

UGC-264

B.Com. (Part-II) Examination, 2021
BUSINESS MANAGEMENT
Paper - I
(Company Law)

Time : 1% Hours ) [ Maximum Marks : 100 ‘
Section-A (Marks : 2 x 10 = 20)
Note .~  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(Tus—xN) (3% : 2 x 10 = 20)
M - Wl TW I F SW A (IW-TW 50 I=) | YR&F W 2 3w @ ¥
Section-B (Marks : 8 x 5 = 40)
Note .— Answer any five questions out of seven. (Answer limit 200 words). Each
question carries 8 marks.
(Tvs-7) (% : 8 x 5 =40)
M -~ w9 A @ fodl uiw gl & I A (SR-T 200 =) | wR@F WA 8§ 3w
& ¥
Section-C (Marks : 20 x 2 = 40)
Note .— Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(WUT-W) (A% : 20 x 2 = 40)
M — =R A A frdl & vl & IW Y (IW-hm 500 7=7) | W&AF I 20 3iF F
?
BI-1275 ( 1) UGC-264 PTO.
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Section-A
: (TUE-)
“®  Explain ‘Prospectus’.
igew | |EgE)
(i) Explain ‘Government Company’.
‘W T w W Wi
(iii) Explain ‘Ultra Vires Acts’.
FfuEa wE | gugE)
(iv) What do you mean by forfeiture of shares ?
Sl & TR | I o e § 2
(v)  Explain winding up of a company.
FA & IREHOE # gngmE)
(vi) Define Company Secretary.
e ofem # qftafyg wifsw
(vii) Causal Director
Awfew e
(viii) Define corporate social responsibilities.
TR ® mﬁt-uﬁzﬁ = wiwfem Fifsa)
(ix) Define Equity Shareholder.
s w sffen wifag
(®  Define ‘Debenture’.
WO W wiewfen Wi |
BI-1275 (2 )

UGC-264

Section-B

(s
When a private company became a Public Company ?
& ot et 9 A% wt o ot & 2

Define Promoter. Explain duties and liabilities of promoter.

yad® ® wRwifia i) s & s @ i ® e wifg)
Explain the duties of Directors.

FueE B Sl W AR

Explain the provisions relating to appointment and removal of Comy
Secrem

e gfee @ Frafe ok w=r TRl yayE S s

Describe the provisions of Companies Act with regard to prevention of oppres:

and mismanagement.

TF T F o R Py # dwEW @ ey § S afufen # e
W&y § avi s

Write short notes on the following :
(a) Quorum

(b) Certificate of Practice (CoP)
Frefafan w wfyw fewfort fafen
(1) —Aaq wrdaEs do

() wfifrde sfm IfwE

Explain the various types of meetings.
w5t fafie qwsl 1 wEEE

BI-1275 (3) UGC-36é
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Section—C
(TUs-R)
9. What are the various modes of the winding up of a company ?
SN I L A 2
10. Explain the varios types of meetings of shareholders.
w7t w1 fafim st &t gwgmET|

11. What do you mean by Prospectus ? Examine the effect and liability for omissions

and misrepresentation the prospectus.

forafurem & =0 e © ?ﬁaﬂm%qaaﬁ?ﬁm%wﬁqémﬁaﬁuﬁm
HIfST |

12. Write short notes on the following :
(@  Voting Rights of Shareholders
() Role of Company Secretary
frfafaa w dfyw ool fafe
(31) SYURI & FA FH AUHR
(a) e gfea @t Yy

BI-1275 ( 4 ) UGC-2¢
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Total No. of Questions : 12 ] [ Total No. of Printed Pages : 3

UGC-265
B.Com. (Part-II) Examination, 2021

BUSINESS MANAGEMENT

Paper - II
(Principles of Marketing)

Time : 1% Hours ] [ Maximum Marks : 100
Section—A (Marks : 2 x 10 = 20)
Note .= Answer all ten questions (Answer limit 50 words). Each question carries

Note —

WMe -

2 marks.

(@uE—3N) (3w : 2 x 10 = 20)
[t T I % W T (IW-HT 50 =) | TRAF G 2 3% F T
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(TUs-=) (3t : 8 x 5 = 40)
[ A § el aia we B IW AT (Sm-w 200 v=) | @ wed 8§ i
colk s

Section-C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks. '

(TUz-—T) (3t : 20 x 2 = 40)
=R A R el & I A (SW-E 500 vi=) | w@® wve 20 siE F5
¥

BI-1276 (1) UGC-265 PTO.
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Section-A
(-
(i)  What is Marketing ?
faqm wF ¥ 2
(i) What is the meaning of Social Marketing concept ?
it fagum faem w1 @ ond & 2
(iii) What is meant by Marketing Environment ?
fauom amarERw § ¥ o € 2
(iv) State the type of consumers.
INNFISA H THR q@m
(v)  Write a note on Trademark.
TTAF W A fafag)
(vi) What is product differentiation ?
I frddiwn & w1 s ¢ 2
(vi)) What is ‘Skimming the creame’ pricing policy ?
‘wemg 3aR' qea frafor Hifs w=m ¥ 2
(viii) What is physical distribution ?
i famo w7 & 2
(ix) What is personal selling ?
i fawa w7 & 2
(x)  Write down four qualities of successful sales person.
T uwFd fawl =fm & an o g

Section-B
(Tvz-—=m)
2. Distinguish between selling concept and marketing concept.
oy suRn w fave sEyron & s @Y
BI-1276 ( 2 )

10.

11.

12.

Describe the characteristics of marketing.

fagom %} favreand wamsy)

Explain the factor affecting consumer behaviour.

IR FAER F VAT W A T W qvi g

Explain stages of product life cycle.

IO M wF F A B GHHWEY)

Explain the factors affecting price of product.

& TR P T B INET T A wSw B GHEnG)

Discuss the various methods of sales promotion.

fara wadfw &1 fafv= fafit s

“Money spent on advertisement is not waste.” Do you agree ? Give reas
‘o W AR A " w9 wd wwww € 2 wRo At

) Section—C
(wvz-w)

What is Marketing Mix ? Discuss its components.
faqu fasror 7= ¥ 2 B wewl @i fadw i
What is Promotion Mix ? Discuss the factors influencing promotion mix.
Mﬁwwt?mwﬁammwﬁﬁmﬁﬁm
Describe in detail the different bases of market segmentation.

TR FavfRer @ fafim Rl & farga aof #ifag
Describe the various channels of distribution and its role.
foror & fafi= onam w@ =1 yiftre wmsq)

BI-1276 { 3) UGC-265
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Total No. of Questions : 12 ] [ Total No. of Printed Pages : 8

UGC-262

B.Com. (Part-1II) Examination, 2021

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - 1

(Financial Management)

Time : 1% Hours ] : [ Maximum Marks : 100
Section-A Marks : 2 x 10 = 20)
Note :—  Answer all ten questions (Answer limit 50 words). Each question carries

ote —

g -

2 marks.

| (Tuz—3y) (3i& : 2 x 10 = 20)
mﬁmwﬁ%mﬁf‘m(w—ﬁmmw)ummzmm%l
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(@vz-v) (aia::8x5=4o)
ma%ﬁﬁwvzhﬁﬁ%wﬁﬁq (SW-TH 200 v1=) | Y% w9 § 37
%l Bl

Section—-C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(gvs-—w) (3® : 20 x 2 = 40)
;nﬁﬁﬁéfauﬁ%mw (ST-HH1 500 =) | Yo% 799 20 37%

I
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section—A

(@ues-)

. nt.
. (i) Define Financial Manageme

foredtg way @ o9 SaRe!
(i) What are Current Assets ?
1] weafat 4 B € 7
(iii) Define Fund-flow statement.
F19 vaTE faagu @ gffea il
(iv) Give the meaning of Cash Flows.
q&Fg yar @ g Fasul
(v)  Define Working Capital.
Fravia It wRwrfem Fwifs
(vi) What is line of credit ?
e @ = E 2
(vit) Define Inventory.
Y H g sifeg
(vil)) What is margin of safety ? Give formula.
g W A ¥ 2 g g
(ix) What is Dividend ?
AU R B & )
(x)  What is meant by Cost of Capital ?
ESURCUCICES I M S

BI-1273 ,
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2.

Total Sales
Cash Sales
Closing Debtors

Excess of closing debtors over opening debtors
In 2005 the position of X Ltd. was as follows :

Sales

VC

Gross Profit -
Fixed Overheads
Net Profit

Find out :

(i) P/V ratio

(ii) Break-even point

T fafiee #t 2005 F fearfd @ v o

fasna

yftadeier e
whA v

feog @A

TS @

T ST

() T HE S
(i) wu-fa=R fag

BI-1273

Section-B
_ _ (Tvs-a)
Discuss the importance of Financial Management.

ﬁ?ﬁam%maﬂﬁﬁmwl

Calculate debtors turnover ratio from the following data :

mmﬁmmmﬁmﬁﬁq:

®)

1,50,000

25% Credit sales
40,000
20,000

(3
1,20,000
96.000
24,000
16.000
8,000

®)
1,20,000

96,000
24,000
16.000

8.000

UGC-262
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5. Describe the objectives of inventory management.

WHY vy @ skedl w1 a0

6. In a business the position of working capital at the beginning and end of the Year

was as follows :

UF ZagE § ad @ gy 9 o # wevie {of w fefd B e o .

Partioaiars 20 ® | g
Current Assets - S
Cash 3,400 1,400
Debtors 4,240 4,120
Stock 6,320 5,840
Prepaid Exp. 320 280
Current Liabilities
Bank loan — 4,000
Short-term loan — 1,000
Trade creditors 2,520 1,680
Unpaid expenses 4,200 3,280

Prepare a statement showing changes in net working capital of the business.
& Frdvie dst # fEdd w9 g e far #ifg

A manufacturer buys certain essential spares from out-side suppliers at ¥ 40 per
set. Total annual requirements are 45,000 sets: The annual cost of investment in

inventory is 10% and cost like rent stationery, insurance, taxes etc. per unit per

year works out to be T 1. Cost of placing an order is ¥ 5.

Calculate :

(i) The economic order quantity
(i) The number of orders

(iii) Time gap between two orders

RI_1727% r A A n(‘.ﬁ-za
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(i)  onfdw smRw wm
(i) s % e
(iii)) D RE ® Wy gy P
8. The following informations are available with regards to the capital structure of

Arihant Steel Ltd. :

e wew fa. & ¢ <R & way § frafafes gl e €

Amount After tax cost
Sources of funds
(9] of Capital
Debt Capital 6,00,000 5%
Preference Share Capital 2,00,000 10%
Equity Share Capital 4,00,000 15%
Retained Earning 8,00,000 12%

You are required to calculate weighted average cost of capital.
amq ot @ wfa SfrEw T # oAl SIS

Section—C

(TUZ-N)

9. The Balance sheet of Atharv Limited as on 31st March, 2016 was as follows :

31nﬁ,2016ﬁaqdﬁﬁésmfag1ﬁmm:

BI-1273 (5 ) UGC-262 PTO.
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Balance Sheet

(9]
Equity and Liabilitjes :

() Shareholders Funds -

(@) Share Capital 4,00,000

(b) Reserve and Surplus 1,16,000
(i1)  Non-current Liabilities -

15% Debentures 2,00,000
(i) Cumrent Liabilities :

(@) Trade payables 1,20,000

() Other current liabilities | 4,000

8,40,000
II. Assets :

(1)  Non-current Assets -

Fixed Assets :
(@) Tangible : Plant 3,00,000
(b) Intangible : Goodwill 2,40,000

(1) Current Assets :

(a) Inventory 1,60,000

(b) Trade Receivables 90,000

() Cash and Cash Equivalents 34,000

(d) Other current assets : Prepaid expenses 16,000
8,40,000

Sales of the years 8,00,000
Cost of sales 4,80,000

BI-1273 ( 6 ) UGC-262
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You '
ar€ required to calculate the following ratios :

() Current ratio
(1)  Quick ratio
(1m1)
(1v)

Stock turnover ratio

Average collection period

s Frafafen suet a3 moen s
1) = ey

(i) @ M

(iii) =Y ad

(iv) ira duew emafy

10. Clearly explain the meaning and importance of fund flow statement and point
out its limitations.
FY vaE famm @ e 7 AEe W HOY 9 TR Hsl W yh A
11. The following data are obtained from the records of a company :
Sl @ el A Fre sited T g ¥
2020 () 2021 })
Sales 80,000 90,000
Profit 10,000 14,000
Calculate :
) P/V ratio
(ii) Break-even point
(iii) The profit or loss when sales amounts to ¥ 50,000
(iv) The sales required to earn a profit of ¥ 19,000.
BI-1273 € 7)) UGC-262 PTO.
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TOHET FAT

() % A S

(i) ww-fa=dr fag

(iii) g T 7 50,000 B T @ A W B I
(iv) ¥ 19,000 v Fr & forg fawa T

12. Explain the term ‘Dividend Policy’ and critically examine the essentials of ,

sound dividend policy.
T AT H FHAEY AN T G AW A F SAEATH qedll B AT ey

Hifaa |

BI-1272
Scanned with CamScanner



.......................................

Total No. of Questions : 12 ] [ Total No. of Printed Pages : 3

UGC-263

B.Com. (Part-II) Examination, 2021

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - II

(Banking and Financial System)

Time : 1% Hours | : [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note .—  Answer all ten questions (Answer limit 50 words). Each question carries

Note —

T -

2 marks.

(@UZ—37) (3 : 2 x 10 = 20)
mﬁmvﬁ%waﬁq(m—msowwmmzﬁmw%l
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tuz-=u) l® : 8 x 5 = 40)

mﬁ@%ﬁvﬁ%wﬂﬁq(w—mzmw)lmmsﬁ
calk

Section-C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@Us-w) (3(& : 20 x 2 = 40)
;—nﬁ@%ﬁawﬁ%mﬂﬁq(m—mmm)nmmm&mm
|
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Section-A
(TUz-3)
1. () Explain the measure of value function of money.
5 & Hod W99 ® B4 H GHEU
(i)  Write three dynamic functions of money.
T & @y s fafaw
(i) What is meant by Consumer Sovereignty ?
SUHIT H TS Y F A ¥ 2
(iv) Define Legal Money.
At T w1 wHgmEY
(v)  What is minimum Reserve System ? Explain.
A Y ggfa 7= ¥ 2 wHgmw
(vi) What do you mean by the money supply ?
71 &t g QA = aed ® 2
(vii) What is Financial Market ?
fadta aem #=1 ¥ 2
(viii) What do you mean by Financial System ?
T3 Yoreh & e ¥ 2
(ix) Define Retail Banking.
fRe dfwn # aftwfem wifew)
(x) Define Right Time Gross Settlement (RTGS).
IR.2.wE. H gt wife)
Section-B
(Gve-a)
2.  Explain the main four functions of Money.
T & AR FE FE B G

BI-1274 ( 2 )
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10.

11.

12,

Explain the main components of firar .
o e o of Financial system.
T@ T H sy Hifs
lain th i |
Explain the main objectives of Fiscg] Policy
T T B v Ry TR |
Describe the credit creation process
@ g5 ik = wmem
Explain the main objectives of Nationalization.
TIFHO & & IL¥T 9a5U |
Write a short note on cash-less economy.
1 fagia sredemarn W feot fafe
Section-C
(TUs-9)
Describe the role of money in capitalist economy.

Wﬁamﬁ@ﬁmww'

What do you mean by Money Market ? Describe the structure, functions and

main instruments of Indian money market.

gmwﬁmwm% ? uﬂiﬁﬂgﬂmaﬁﬁm,mag@wﬁw
uiq wHifer | |
What do you mean by Monetary Policy ? Describe the main tools of monetary

policy of India. .
£ qﬁ%ﬂﬁ!a’am@mﬂ"hﬁmmn

s A & e T
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